{. A ‘gourmet’ means
(a) A seasonal traveller
(b) Greedy cater
(¢) Vegetarian
(d) Connoisseur of good food

2. A ‘martinet’ means
(a) Candidate
(b) Supervisor
(¢) Strict disciplinarian
* (d) military leader

3. Find the word correctly spelled
(a) Parallel
b) Weird W
(b) Weir | ot
(c) embarrassing
(d) baloon

4. Out of the four alternatives suggested, sclect the one which best expresses the same sentence
in Indirect Speech:

Vipul said, “Alas! How thoughtless I have been!”

(a) Vipul exclaimed how thoughtless 1 have been.

(b) Vipul regretted upon my thoughtlessness.

(c) Vipul confessed with regret that he had been thoughtless.
(d) Vipul admitted that he had been thoughtless.

Replace the underlined word from the given alternatives:

5. Some scientists believed that a meteorite could have created a tsunami that wiped out life
on carth several billion years ago. '

(a) got more of
(b) extremely tired
(¢) removed by
(d) put an end to
6. It lays the foundation of the overarching perspectivethat a person develops throughout his
or her life. '
(a) embracing nothing
(b) dominating nothing
(c) embracing everything

(d) dominating everything

Scanned by CamScanner. .
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: ] o iven
Replace the underlined word that is most closely onposite in meaning from the gl

alternatives:

& . . 1 iy S ugE * e : Of
7. His energy galvanizes him to shoulder the responsibilitics and withstand the pressures

playing a sport.
(a) depad

(c) surrender
(d) discontinue

‘The sentence is followed by different ways of writing the underlined part. Choose the best

alternative:

8. The glorious tradition of the kingdom almost continued for its establishment, right from
the reign of Bappa Rawal.
(a) from its establishment
(b) since its establishment
(c) till its establishment®%
(d) to its establishment e<_

9. They compepsate for lack of admirable physique by their firm and pleasant nature.
(a) firm but/pleasant nature | - 11£ ‘
(b) firm or pleasant nature

(c) firm and pleasant ideas
(d) firm, pleasant nature

Choose the best answer from the given alternatives (Q. No. 10):

10. While Ieabout the passive voice form, students learn about:

(a) use 0 @

(b) position of verbs
(c) position of nouns
(d) use of verb form

Choose the best answer to replace the underlined word from the given alternatives (Q. No. 11): }

11. It forms a natural boundary that runs along the border between India and Pakistan.
(a) figures g

() frames
(d) moulds

— -
¥ S ——

Q.B. Series -3
. Page 3
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Choose the alternative which best expresses the meaning of the

12. He was punished for taking French leave.
(a) giving lame excuse
(b) leaving without intimation
(c) being absent without permission
(d) resigning without giving notice

idiom/phrase (Q. No. 12):

ymwwfﬁwguﬁﬁamaiaéaawgw?%ﬁmémﬁl

1. efex

2. "UsSH
3. FAfES
4. Yidas

fefsoma 39 3 fegt s o AI g faoa 3t

(a) 1,2,313 4
(b)1,3,2 13 4

Jm.4,:n@3

(d)1,3,4n32
4. FII1 Het 2
A oomE (i) St
B HE! (i)
C HeZE (iii) IHS ;
D g _ (iv) faor
gua3 &5 fagar g At 3
A B C D
(a) (i) (i1) (i11) (iv)
(b) (i1) (ii1) 1} (iv)
(c) (iii) (i1) (iv) (i)
(d) (ii) (iif) (iv) (i)
15, RilE mEU-yTE fenivis J5:
(a) 8. €, 3,1
(b)3,8,d& U
(c)€,35,4, T
()8, 7,5, H .
e AR ESS e
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16. J5 fea Bt 99" gre e ufgers:
(a}é‘\’
(k)€
(c) ™
(d)
17. BU RE2-73 9&;
(a) Haer %‘S@ | 0)\(;?\ ‘_)@ﬁ
(b) Rzt 25V S
(c)fHE'TT:TH
(dyugeTol
18. Tad AEE € ‘UI&e o famy ¥R:
a3 fHaa3 aae J5, 80 Fe® J° I5 1

20. Sty Agat Aee o fapy ©R:

 (d)TEt F adt |

21. I3 fon Tt &9 Hu e 92!
s, aret 3 3% 99 99 9
(b) 7S W2 Haait aTan Idmit T3 |
©F, 3387 ug2 A
(d)ﬁé#gﬁvﬁﬁa&a‘:k
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2. ‘Y 3 fart' &t
3RS
(b) JTet ;
(c) afesr
(d)aea
3. Hehi get 2
A €32 ot vag (i) ne3Tg fitw Uy
B nie ¥ faghyt (it) FaW3 Uy
C fasunmazy (i) g, 7ox fiw
D A% U3g (iv) Har3Ta
A B g D
(a) (i) (ii) (iv) (iii)
(b) (iv) (i) (i) (iii)
(c) (iD) (1 () (iii) .
{dHﬂ
« sra ek 10 2ENIEVE
(a) &7 H%Eﬂ}ffé:f
(b) 22 niFgs &t
(c) TA&™ Higw €t
(d)TE aHS HER &

25, ‘T U's grfenr R uBdr, 39 & gat nirfenr fafs feg arfinr
(a) HISTET5 O
(b)HTSH 3
(c) T3 f5aerm 3
(d) Busa= SEt 3t &I

26. Guru Nanak's friend and companion Bhai Mardana used to play a musical
called — "Rabab’. Which among the following countries considers it as its n v

instrument?

(a) Afghanistan
(b) India

(c) Iran

(d) Iraq

nstrument
ational Mmusical

T & I e
Page 6
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g A5 o2 #t T A 3E HoeTw Hats o fem m e e @O At J5
fiasfimt fo” faazr o fen § awmedt Fals v diaer O:

(a) MTITEIRIS
(b) §93
(c) fegs
(dy feara

27. Indus Water Treaty between India and Pakistan restricted India’s night to usage to only
three eastern nivers. Identfy the correct group of rivers
(1) Sutlej, Beas and Ravi
(by Jhelum., Chenab and Sutle)
(c) Ravi, Beas and Jhelum
(d) Chenab, Sutlej and Jhelum
il ud? & AS3 s, firgs fa 993 w3 ufarzs feo® dfenr, 393 &
o 55 ught sdht o udt wase o Ja fifenr | a8t € Sl digu & uiggTa:

(a) FE, T n2 I3t

o Bt gchieve

(c) S<T. fEnTH ni=
(&) f97g, AEE ni3 ATeH

28. Why is 1716 AD important in the history of Punjab?
(2) Death of Guru Gobind Singh
(b) Death of Aurangzeb
"(¢) Killing of Banda Singh Bahadur

¥

, y’ctcmr}* of Sirhind by Banda Singh Bahadur
e @ fefzom 88 1716 AD. fa€ Hu3euss 37
(a) I3 SifEE fRy i T 0 59

(b) WigamE ¥ H3

(c) FT7 AW gT7vd & AOe3

(d) S fitw goTeg & mafde & f3

29. Which among the following countries developed world's first graphene clectronic paper?
\yﬁfina
(b) Japan
(¢) Germany
(d) India
ﬁiﬂs_;-ics~§-"_h_m_“h““ - | ¥ __Egﬁ;?qﬁ

P

'.. N
Sk
4
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et &) - - = b =1 - ﬁ-j}:

s el At T o O & edior @ Ufd ot fedbaaros Sam €1 HH
(a) ©ts :
(b) FUTS
(v) HaHaEt
1 (d) 5753
39” Which among the following is the longest mountain ranges?

{a) Andes

(b) Rocky

Himalayas
(d) Trans- Antarctic

I3 fSttmit [T faast me 3° ot uamst & 3R 3:
(a) WS
(b) T
(c) forrfins
(d) TeR-MeeafeR
\:“!;J‘:Thiﬂ lake has an average depth of 730m and is 1.741m at its deepest point, which makes
‘_:;?e deepest lakg\in theavarld. Jdeatify they:
. Superior of : m rU a b Ieve
(b) Michigan of the USA

(¢) Baikal of Russia
(d) Ontario of Canada USA

feR st® & nins afogst 730 Hica In2 I8 T : 3
& 3 3 Fult Sim i@ 3 e sl
(a) F&T/nidiar S pUtfons Sts
(b) MHSTET T HIFTAS 518
(c) gR Tt gam 1
(d) TEFmEaT B §2fan St
32. In which among the following countries would you find Deltawerken Flood Barrier?
(a) The Netherlands Ae——————-
(b) Spain
(c) Australia
(d) France
5 fefunt &9 fGaz T8 f&9 Deltawerken Flood Barrier J:

(a) SECIVE]
(b) AUS
(c) MRZSfET

(d)EIH .

B. Series - 3 e
Q Page &
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33. To which among the following states does the theatre form ‘Ankia Naat® belong?
(a) Bihar
(b) Jharkhand
(¢) Kerala
(d) Assam
I3 fefinrt &5 903 1 5% *widher 72" Fdg uer 3:
(a) faga
(b) 5T
(¢) HIS
(d) MA™
34. Sonsogor s the highest peak of this state at the height of 1166m. Identify the state.
(a) Chhattisgarh
(b) Goa
(¢) Haryana
(d) Punjab

SunmgnrfEﬂE’?TéTTﬁ?% e_fff gt 3 frret B8t 1166 Hreg 31 fem am ?:SUFJH'E?
(a) ST

(b) 3T

tc‘lE‘ﬁ:ﬁﬂ*’E"

(d)uw"

Lad
th

. In which among the following states is the Shilpgram Crafts Mela held?
(a) Punjab
(b) Madhva Pradesh

. L ]
camees AT tO @Chieve
(d) Rajasthan
35 fafipnt o5 fao3 om &9 fenuaany aaez T &areT J:

(a) UFTg '
(b) HitT UeH
S CEILEIE]
(d) IHRES
36. Identifv the. former Indian Air Force chief on whose name the Panagarh Air Force Base
of West Bengal is renamed.
(a) Arjan Singh
(b) Surinder Mehra
(c) Swaroop Kaul
(d) Anil Tipnis

# L - —
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FTE FTIS8T ENfT STH (Indian Air Force) 3 10t firs @ & 3 URHT 80 € USSR BT
SEH BN ¥ & wura Ifinr famrr, or o o i

(a) PigHE iy
(b) BfSwa Faar
(¢) FRgU @

(d) nifess fufar

37. Which university
to a supposed de
(a) Udayagiri
(b) Jagaddala
(c) Vallabhj

jﬂ“ Vikramashila

YTSie 393 8 e gatealind € ugnt € wia i fraee nile ey s &
TIHUS & fagst gateatndt & ranr st e

(a) Bewfast
(b) FIEIESY

o=r AlIM 1O achieve

(d) feaarfizmr

M‘n’hich 1s India’s first international biosphere reserve?
(a) Panchmari Biosphere Reserve

fNanda Devi Biosphere Reserve
(c) Simlipal Biosphere Reserve
(d) Nilgiri Biosphere Reserve
gra3 o ufomr wizgaRedt Biosphere Reserve fara3r 3:
(a) USHST
(b) B T=F
(c) fAnstus
(d) AtSfarat

in ancient India was established by King Dharampal of Bengal in response
cline in the quality of scholarship at Nalanda?

39-Who among the followings is not recepient of Saraswati Samman?
(a) Haribhajan Singh
L7 Gurdial Singh
(c) Dalip Kaur Tiwana
(d) Surjit Paatar

e

Q.B. Series -3 Page 10
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I fafiont 100" fan & Ronest pars 5ot fifnr:
() Tigsws
(b) aafones fiur
(c) T8t &g fogra
(d) BT U3d
40. Who is the writer of *Bachitar Natak”® :
& ————
(a) Bharat Mum
(huru Gobind Singh
(¢) Ajmer Aulakh
(d) Gursharan Singh
gidzd red o SHd d2 J;
(a) FI3 HE
(b) 313 drfe fRw
(¢) PAFTHT Y
(d) FTEFgs fru

e M 1O achieve
(d) None of these

41. ‘Japuj’ 1s written 1 which ‘raga’ :
(b) Trlang R
(¢) Tukhan
MY R B e— . X 8
HLUF RTJa8 'E'} daAT dH 97l ﬁ':g dJ.

Ted| 31l

(o) fRat T
(b) F335gT v
(¢) IuTT T
ilijéi-"c':'?i' &7
\/Pf.' Mention of *Dulla Bhatti® 1s found in song of which festival :
{a) Songs of Vaisakhi
(b) Songs of Bhangra

(cSongs of Lohn
(d) Songs of marriage

‘o $2 v frerg R st e me J:

(c) BIZT ¥ A3

O.B. Series - 3




43 ‘Mahan Kosh® the Punjabi Encyclopedia was written by
(2) Bhai Veer Singh

. (b) Bhai Kahan Singh Nabha
(c) Gurbakhash Singh Preetlari
(d) Bhai Gurdas
"HI™ IR dREt ferean far & goar -
(2) 781 &9 fRu
(b) € aram ity Frar
(c) T9ER fRw Jswst
(d) TET IR
44.

e-district project has been successfully implemented in which district?
(a) Amritsar

(b) Mohal
(¢) Shahid Bhagat Singh Nagar

(d}‘\nncnfthcsck;ﬁh n e M%E Tall

oFry Mm&nm%mra@hnaéérm m%?%wﬁ
(a) il{3FT
(b) Ha=t
(c) FdiE Fa13 fRw &3
() o5t &5 &2t &t
Who amongst _th: following was elected as president of ‘Punjab Riyasti Praja Mandal’
(a) Bhagwan Singh Lnngc:walia
(b) Master Tara Singh
(c) Kishan Singh Gargajj
(d) Seva Singh Thikriwala
(a) TS Ry STesnr
(b) HRZT 33" fRw
(c) fama fiy arzeis
(d) B TR Stadtes

45.

Q.B. Scries - 3 i

e —

e
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?ﬁh‘u’hich of the following Wild Life: Sanctuaries of Punjab, was first notified as wild Life
Sanctuary?

Harike
(b) Bir Aishwan
(¢) Bir Mot Bagh
(d) Bir Gurdialpura

U5 ot 139 8 3 ufawt 32terst st witd Life Sanctuary 3
(a) TS ‘

(b) 3 WHTS

(c) T3 H3t Eal

(d) 513 gaferrsyer ’

47. What is the total height of the highest peak in Naina Devi Range, which is located in the
Rupnagar district of Punjab?

(a) 500m

(b) 1020m

(c) 1550m

oA M tO achieve

aaT o2t 7 o e 3 €%t 92, frost fx mme © gusee g T 9, = oo Baret Gt
ki

(a) 500 HIEg

(b) 1020 Hizg
(c) 1550 Hizg
(d) 1800 Hizg

487 What is the state animal of Punjab?
h'(‘\'{{JBI:H::khuclc:

(b) Barasingha
(¢) Hoolock Gibbon
(d) Spotted Deer

Arg T gt e faasT 97
(a) T fogs

(b) Frarfiur

{c}':;l?iﬁﬁ!f@ﬁ

(d) fgtems fogs

Q.B. Series — 3 ' T e
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single state
fow many princely States of Fast Punjab were grouped together to form a sIAg

called PEPSU (Patiala and the East Punjab States Union)?
(a) Five

(b) Seven
(d) Nine :
2 - £ s b
QR (G7ma i3 €72 Urma ey GatiE) a7 § aerle st yadt Uaa @ fdé HaaTivd
€ I & fodlst dtsr fipapr -
(a) UH
(b)A3
(c) &
(d)&

50. To which among_the following buildings is the great architect Moshe Safdie associated?
(a) Virasat-e-Khalsa Museum

(b) Gurudwara Sri Darbar Sahib
(¢) Gurudwara Sri Hazur Sahib
(d) Gurudwara Sri Keshgarh Sahib

J5 feritnt fermag feg fom & R YT fgl{fa;am hg&i?ﬁ;{dif_ﬁw 37
@ fem-2-yppigale () O HTEVE
(b) T H w9arg Aoy
(c) ITEMTaT H gga Afow
(d) STENST H aFa1F Arfoa
é,!./ln the series 10, E?;,_%{ 31\ 38, ..., which of the following will be a number of the series?

1346 T I F9 i i
(b) 392 <6 g gelede(p-0d ALY (S

A g — (3
(c) 436 Uy t oy e%o
@eso T T A 3351& 5,@3,3-; @
10, 17, 24, 31, 38, . mhmm&ﬁmﬁmméﬁammo

(a) 346
(b) 392
(c) 436
(d) 680 ‘o
\_ﬂ/n the series of numbers, 4&?33_;4}%] 90, 382, ... which is wrong?
(a) 22 £, "M
(b) 46 :
Y6 We
(d) 382 u
QB.Series-3 - a6 g
e
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Aferet S JE5 4010, 22
{a) 22

(h) 46

(c) 96

(d) 382

.46, 96, 190, 382, ... f&g fagt st ams 47

ywhich of the following is the odd pair of words?

(a) Atom-clectyon
(b) Curd-milk «~

(¢) House-room
y/r;-ain-cngilxe
5o fofemit &5 feraar et & 9 mifimfys 39
(a) maH-fardl miz
(b) BT
(c) Wa-oHa"

*=2/M. 1Q achieve
54. Which of the following 1s the odd pair of numbers’ 1§

(a) 15-46 (4 oe 9 %
u:} 12-37 % }d Q‘;;Q }T
g

[ ]

(d) 9-28

% et fo5° ffimret o faozr A3 mifsefas 97
(a) 15-46

(b) 12-37

(c) 8-33

(d) 9-28

55, Fight people A, B, C, D, E, F, G, H are sitting around a round table in the same order, |
\/‘:t equal distances. Their positions are clockwise. If G sits in the north. then what will be

the position of D? o W
(a) North-east
(b) West RS ‘E‘, A

(c) South-gast

L}H‘ South-west ' E)

C
{_).B. Series — 3 ?

Page 15

-

Scanned by CamScanner




s a4 ot pfiedh wEt ¥ e
forst drm N faras J’H"\ M i SR ey Qe = 3 88 aa H'T e pfi] et € 1
f‘r t 1.,? |

& G 83 fogr ::;T.'ﬂ J 3t p <) pfigdt o Sy
(0) BT L

S ———

(byUraM
() 2UE -y
() THIF U
§6. Which of the following words cannot be  formed by using the letters of the word
ORGANISATION?
{a) SOLUTION K
(b) NATION
(¢) RATION
(d) RATING
ORGANISATION HE¥ € npidt 9 @93 v 3 Tl fo3 fagar mee &0t gedfonr o
HAe Y
() SOLUTION . 2
onnon - AN 1O @chleve
(¢) RATION
(d) RATING

« Look at the following numbers, Which is the third number to the left of the number which
1s exactly in the middle of the numbers?

3 o i?"@_h@4"1?543l 6759

(n) 5
(b)Y 6
(c) 7

Wt

S+t A faagt 37
42371257286864217543167509
(a) §
(b)6
(c)7
(d)8

Q.B. Series - 3 Page 16
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58. On rev LI":,InE a woman’s age, the figure so obtained represents her husband’s age. If the
husband 1s senior to the woman and difference of their ages is one-cleventh of their sum, TR -3

then the husband’s age is : o = o+ a3

(a) 42 vears W o= \Q‘Q A OE

(b) 45 years N \ .11.\"4
_toxay= L C

(c) 52 years \o "—l‘&-* X " .Q [\ .

(dyS54 vears C{Lej - aq¥x =~ ot \G

miaz © §va ot Aftnr § 888z 315 YUz I8 Aty 878 vl F §Hg 31 AT
uéf@ﬂnﬁag—gram@ﬂ‘ﬁm%?ﬁa@wéw@wéﬂs?:mﬁJﬂTE’f

3ty &t Qg Jeatt:
(a) 42 A&
(b) 45 H'®
(c) 52 A

(d) 54 A'&5
59,7 If the English alphabet is written in reverse order, which would be the 8th letter to the left
of 7th letter from the right?

wof QRETLVWEYTZ

(a) P ththFG“'EKLM 5
(bR zjxm@Tﬁ&&?@yMk“wﬁﬁ@r !
b | 11 Y ');:-:

(dK " e Y e

Mnhﬁﬁ%mﬁwmﬁamww?ﬁﬂwﬁﬁﬂgﬁm%ﬁwﬁ

niaet nhyg fagzr J<ar? NS ‘D:‘%.

(a) P Fg RNV 1

(b) R KL ™ Z T

(d) K u v

In a certain code SPEAK is written as CGRUM and RAIL is written as I{["TN, In I)I;at o T

" code AVOID will be written as : g ? e A \1 R M\ '. J.,L
AT KQXCF l LR 1, o

(b) KXQFC kLT 210

(c) KQFCX

(d) KQCXF

%HWQE&HSPEAKECGRUMWW%H{%RMLHKCWWW%‘H gr

&=z f&5 avoiD § faftmr Frear:
(a) KQXCF
(b) KXQFC
(c) KQFCX
(d) KQCXF

c Page 17
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\fl/ﬁ road is called water, water is called cloud: cloud is Ldilcd sky, sky I8 ‘-”“Ld Heay Sca
¢ e it

alled ship, then where does an aeroplanc ﬂ‘-
(a) Sky

{hl Rﬂ'ﬂ.d
_{s+Sta

{d) Cloud

, Tﬂ?ﬂfﬁ”'ﬂ}f‘&a‘ﬂﬂ uEt § wes fyor e, gvn & was o AR MER

HH'E\.. tagr =3 m-!F‘j'F;H}{:rgﬂ mq%@“ﬁ?mmﬁﬂ@w? o, <
(a) YAEHA

ib)y =T
(¢} FHEY .
(dy =35
62. If the first and sccond fetters of the word L{‘.I“'.‘HE %3‘ N are interchanged, also, th.
‘-//tlmd and fourth letters and so on. then which would be 'th fm:nh letter from the neh”
(M COMPENSATION ' h
() OC PMNEA{YTNe
(YT .

MlLUAISmiLQU@QA Q Hv*%aa';{rme feg

e ﬂﬂrﬂfﬁnmf:n?rﬂvwa errr{u*ﬁn%iaﬁwmaf'atr'r
{a} M ;

(b S ' AR . X 4
[c]_[ 1 1"..-: =
(d)]

f all the multiples of 4 between 4 and 71 are arranged in descending order then whic!
number will be at 8th place from the top? -"G% S » ¢l

(a) 24 A Y &

(b) 32 fg %6 C L et
erdo B g |
(d) 44 A% -
Hod 4 w3 71 © <88 A9 4 © multiples ey 2 e
3 forgt Ao 23T ples WE ST e TS 7 5 @ S i
(a) 24 6 &

(b) 32

(c) 40

(d) 44

Q.B, Series -3 ===~
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L yju B e - ol .prlk‘ Seema is the daughter of Raju. Chhaya is the daughter of
Dinesh and Dinesh is the brother of Deepak. How is Chhaya related to Seema?

(a) Aunt Dines™

D
\(b¥Cousin / |
(c) Nephew
(d) br-'.lplhcr

Shux o U3a I 91 I O Ot b 31 Redn & ot afenr 3w fodn o e Sua 1
grfenr & Fhyr &% &t fomsT 7

(a) WSt
(b) ST FI/3F
(c) ST
(dyH="
\f;.: Some students are standing in a line. Shekhar is on 10th place from left and Alok is [5th

from right. When they both interchange their positions, then Shekhar is on 20th place from
left. Total number of students in the line are :

151332 .3»-0__,‘:' ém ..
% Airsto gghieve

—w foforad s ot 20 u3 05| e 98 wiRE’ orR S5T 3 3 ni3 n@a AR RS

s

Joa® Auw 3 31 we B0 87 i@ FES »iEw-aTS! 9 8¢ 05 31 AYT U8 UTRS 20
Z53 3 )1 mes e o fefonradt oa:
{a) 30
(b) 34
{c) 36
(d) 39
66. BEGK is to ADFJ as PSVY is to :
¥ e CS
ATl ORUX Be GX & Y
(®) LQST L 1 b-
(c) OURX ADEF> R
(d) ORBM
BEGK 353 ADF) ¥® 3 3F psvy faA 35 q:
{a) ORUX
(b) LQST
f{c) OURX
(d) ORBM

M
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\y( When Sukant was born, his father was 32 years older than his brother and his mother o,
25 years older than his sister. If Sukant's brother is 6 years older than him and his mon,

1s 3 ycars younger than his father, how old was s’mtﬁ when he was born?
(a) 6 years @ b B gs =%

lblﬂ?ﬂﬂﬁ L - 35

S g F o391 SM =854

= SF~3p 99 =31
d) 12 years

T BE 2 AnM 3fenr 31 QR @ fuzr @R 2 gor 3 32w @2 it i3 B8R i O
3= 325 AP T A Aue Rats v g9 G0 T 6 0 zgr 3 w3 Bret wrar B fu
3AS et d 3 @t 37 3 mrsst &t At e mais @ wed Ofenr

{(a) 6 'S
(b) 8 A&
(c) 10 i
(d) 12 i'®

68. Among POT, DOG, READ, TAB, REED, the odd one is :

At -3%  dakd
\®, {hw h é 3¢ 2§
. wmfpnfoachieve
> ““PGT 3 .'Sl FQW 1 'I’
| @l POT. DOG, READ. TAB, REED {35 fe@@ odd 3 ?H:éz g ﬁg
N (a) READ 20
H oV w L -1
(b) REED 2z 3
. (c) TAB
F : *'~ g (d)y POT
Il: x

pair which is different from others is :

@50 - 63 \Y
g, 9 :
4 —'Tq\ -:F }%

08" (& ~¢

69. The _nu

{d}w - 98 b
Rt 73 ot 578 @9 -
(a) 56 - 63
(b) 40 -
(c) 96 — 108
(d) 80 - 98
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ACID is coded as 5927, and BOIL 1s coded as 1826, then DIAL will be coded as:

(2) 7266 v A ti} 'Y AC'\D Jo L

(€) 7256 X 9 {qﬁﬁ‘ﬂa
id) 2756 D 6
RET ACID T TF 5927 %2 BOIL & 1826 J, 3 DIAL 27 &8 Joan:

{a) 7206

(b) 7156

i) 7256

{d) 2756 @ ® (D @ @)

7L If the words_Editor. Either, Edge. Edible and Eighty are arranged alphabetically, then the

word u.h'ich will come in the maddle is :

(b} Either
(c) Edge
(<) Eighty

APt g e Ve

(a) Editor
(b) Either
(c) Edge
{d} Eighty
72. A and B both are children of C. If C is the mother of A, A Is the son of C, hlllit'-_lml
the daughter of C, how are B and A related?

(a) B is neice of A ﬁ
(b) B is cousin of A -

B is the brother of A B m

{d) B is the nephew of A |
AWSBEA CEHS TSI IS AT HICI, CTUSTAJUIC Pt adt Bt J 5
B w3 A T famsr at 97

{uih"ﬂ'?ﬁ?—ﬁﬂa

(b)A TTTIT ST B J

()AT ST B I
(AT IFHFTBI
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\_/T&/R?m 'S taller than Shonal but not taller than Rakhi. Rakhi and Tanu are of the same heigh
Rita is shorter than Anjali. Amongst all the girls, who is the shortest”

(a) Rakln .

(h) Anjali ] ) 7 Tow
(¢) Tanu ' g" :‘;—‘

(d) Shonal h

St HAS S 9t § vy it o s et e 35 @ 0 it st 91 e v
& @t 31 Adinft ghort 7 ot 1 3 &t A7
(a) gt
(b) niFT=t
(c) 38
(d) 755
\_,.?1: Arrange the given words in meaningful sequence and then choose the correct order
Education  Job [ncome  Status Well-being
! 2 3 4 5
(0)3,1,2,5,4
(x}5.4.3,1.2

W+ 2.4.3.5 ) -

Education  Job Income  Status Well-being

1 2 3 4 5

(a) 1,2,3,4,5
(b)3,1,2,5,4
4

s AlM to achieve

()L 2%, 3,5

75 If the following numbers are arranged - in d

g | di“g {}rdﬂ']‘ Ih.c” thL‘ n"ddi i 4 1
i 3 : ¢ digit he
middle term 1s : 2 it of the

273 468 159 206 asp " 514 381
@sS™ @68 B A3 dog  1£9

(b)7

s

(d) 6
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e o ferdintt Afunrst § wedt 98t 3adta g marfonr a2 3t fegaradt Bimr &

fegeram wig faas 5ar:
273 468 159 206 350 514 381
(a) 8
(b)y7
(c) 5
(d)6

Lj,ﬁf-"]"hn: average of 25 numbers is 18, If the average of first 12 numbers is 14 and that of the
last 12 is 17, then the 13th number is -

6 & 25 BSXVP =X 1Y 4+ X +12x)d

*Aim to achieve

S HtET T A3 18 I Ja9 ufost 12 #fimrst v viRg 14 3 i3 et 12 At

e niAz 17 4, 313 & Afunr 534 Y Y WSe
8 W3 166 . 353
(b)40 - 5y NG
(c) 68 =
(d) 78
\.?7:‘ The difference between an exterior angle of a regular polygon of n-sides and an exterior

. angle of a regular polygon of (n + 1) sides is 5° The value of n is: "T'-.("“-"i* )] =03
a) 5 ] L1 - ® s
:;i 7 w3 - Bee TS

- RINIO T

a —

(d)9 "%&C‘v {ﬂfﬂ't-—ﬂ s hr'i('ﬁ-]-l‘

murm}?ﬁﬁrﬁr%amm?%mﬁ?ﬁémi 1) Uit 18 &g faafis HJgH
& argdt 3= fEg o TTiEE T1 n T HS It

{a) 5 :

(h)7

(c) 8

(d)9

78. P and Q are two stations. A train goes from P to Q at 64 km/h and retumns to P at a slower
speed. If average speed of the whole journey is 56 km/h, at what speed did it retum?

(a) 60 km/h 56 £ = axeu¥ h ‘,;\\ g Lf:\}'
\_AB1 49 km/h “Gu+ly . - e ¥
(c)S2km/h cutbh = ZX8TY) —
(d)472 km/h % V)
QB.Series-3-F 4 GUx34+3h =1¢h f Page 23
q Y4B 6ux? = b e N

,3.5&.1 Scanned by CamScanner



.

\_,K']’-:-l : hours

80.

P03 Q HeRs 0% 1 fia JwaiEt p 3 Q 3 64 g Y uiler B B3 & FE
WS W FEEE A 2ms p 3 2fur et D) FeE ud ned ot ning 9239 56 G
=t e 98 31 it fadt gerg o arful niedty

(a) 60 fa@itagnis

(b) 49 fo@fteapian
(¢) 32 fa@itea e
(d) 47% faitzgniz

A swimming pool 70 m long, 44 m wide and 3 m deep is filled by water issuing from 4
pipe of diameter 35 ¢m at 6 m p ;!Fumm! The time taken to fill the pool is :

(2) 4 hours gyﬁyﬁ_"}fl)&h& ’Q_D

1 _ S .
,(b}d‘-ﬁ hours % 3 % % %S Yﬁ X—Q-élm v U\“jg‘.
§° A®q 74

.4
(d)y 35 hours

?lnﬂ?aasa 44 1123 93 vi3 3 Hiza S0 F&hie us & g sty &8 6 1iea/ifas ©
forre uat 5% sfonr aer 31 uwdty © foun 35 REhiea 31 us & 995 5t M =31
a:

(a) 4 U2

"i%  Aimto achieve

$
[d)l’;a uz

The students of a class are made to stand in rows. If 3 students are extra in each row, there

would be 1 row less. If 3 students are less in cach rowethere would be 2 more rows. The
number of students in the class is - = ﬂ{

(a) 25 Todal
(b) 30
(c) 36
(d) 40

ﬁeameﬁhmwﬁuaﬁwﬁgwaﬁ?w%maaﬁuaﬁﬁmwﬁ*
g 93 we 3F e dast we et e a9 Uast g 3 feforrsst wer RS @ 57 2
dasint 0 FrEdindt | awe feg fefonraghr & fasht 3

(a) 25

(b} 30

(c) 36

(d) 40

Q.B. Series - 3

R i e Page 24

Scanned by CamScanner



. v " 7 ! - S - i = =
81. A shopkeeper buys 2 sumber of books fior T 12003 if e bad bougle [0 more Doows X
the same amouni!. cach book would have cost him 7 20 less. The oumber of books hought
. - E———— i
by the shopkeeper s :

(23 10 T 1AW % < ) O
(b} 15 ' sk __,\G—m L= A

[ ":‘ﬁ',
{c) 20 .g — ;_?_':.\‘q 1“_\6
- CalE

{d} 25 e

A i = = A - ! . - ol - - =
£ — LT e e Bl o — e ey it (i . p— . ——— A
® iry - (s el =) % — ~ = - —
Lo Lo A0 AT AT S LAN Al s Hgie &Y o | T SRS O AlETE IR A

e 4 = - " - g - - - - o . = - . -
—— . mes— — ——— - E———— i - — —— — — —— -
- - — _— - - — e " --- - — —_ e X
TR BT i I erno WO T e N FgUIE D HEE I ST R oo n on So v

- - - B -
B,

y’ How many nmnhgf lie between 10 and ;'r which when divid
37 A |
3 <
(2) 62 r’”ﬁ\\ t.ﬁ_r

b) 65 g 5 9%

ic) : /"‘ﬁ %4);

1ay a2

(b) 65 G }}5@ 399 =ti+ (n=t) &i

- \
i q  FEF =

£3. If the point (x. ¥) is equidistant from the pomnis (@ - b.b - a)and (a - b a + &) then
{ayga-b=x+Y ‘bb :&—b) b.-;—_——&
by x+b=y+a
(€) bx = ay A+ 41X = O-bh+3N
{d)ax - &y 3
_:19: Ea ,,.'n-ﬁ.:'{ (x. ¥). 1_.."?':‘~’.HEA¢: (g ~h b-a) W3 IAMEC a-b.a + b) 3 Bd'8< TC

E5

(aya+b=x=+y :

L L ]
w2 Alm to achieve
(c) bx = ay
(d) ax = by =

=i

Q.B. Series - 3 Page 15

Scanned by CamScanner



84,7A boy is cycling such that the wheels of the cycle are making 140 revolutions per minye.
If the diameter of the wheel is 60 cm. then the speed at which the boy s cweling s -

{(a) 200 m/min - Ch tl.t}}( Wy
264 m/min ‘TI,:)*‘L‘ =6
(c) 300 nvmin
| (d) 326 m/min
Ea Bger Fretes v foor 8 3 rdtem 2 udiE ¥ file ffg 140 Se= 8 50 951 3=
4 ydte & ufgqns 60 Rdhitza 3 3t sz 8T 35 &% Aetes 85 far 07
(@) 200 Hza/fite 3
(b) 264 viza/fitz *ij"}
| (¢) 300 ¥iza/fiz m,
i (d) 326 Wee/fise . ox >

@ :fjl“; 4+ 7+ .. +x =287, then the value of x is :
3 3 -~
(b) 42 AMAF & . OE =g L\
2 ot N
©45 o S=2(0 ‘

(d) 50 "
oy 5 =2

-

@ 1447+ 4y 287, Fx T HS T ?

0

)42 S L MAR TS 4 (34164194 3243538
(c) 45 > TABU43T pyoruand

(d) %0 +uqa s

86. The d:mcn‘mllons of a rectangular block is 5 em * 10 em * 20 em. To construct a solid
cube of minimum size, how many such blocks will be required?

s
5L

4
' :::q 5 'S xloxdo = a3
(c) 7 (9)ew a=d
(d) 8
%:H % ETarg w5 w_@ﬁ'ei TTGTH Sem x 10em » 20em T8 | 8¢ F 8¢ Wias ©
fos 57wz srEE wet fod fad iR sat ot woss 324t
(a) 4 '
(h) 5 y _
(c)7
o= Aim to achieve
T s i 7.l o i Pege 26
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K7, Three cabes o mersd whose odpes e 0 B ragen 3 - £ - 5 e mened gnd crovemisd o

i ST OOt :"':f Lyl it o 12 .03 Th : - -, .
il oA ol = Sig ._E_ﬁ‘.'.-. B P O 3 o D O I R OEws T -
B o s Ll E

[




3304 fﬁﬁaﬁﬁzﬁmﬁmyﬁmﬁawmﬁw
(a) 60 o C |-\

B
(b) 115 - ,’\’gjq-—ﬁ '
€) 120 ' «5"\'/\:5\:1'
(d) 130 2-—'%"’\'7:7\
S

A, B and C can do a piece of work in 6, 8 and 12 hours respectively. They started the

work together and after 1 hour, B left the .work. In how much time will the remaining
work be completed by A and C?

(a) 2 hours J - '_l"-’r 1
LA AL\ \i \
(b) 2 23 hours 6 B I € |
5 . ENA X a4t ,\ = |
(M} hours ——— T R =
1 ‘lq l

(d) 3 hours ' 1

Tl

A, Bn@Lﬁaw%wﬁ sé‘lzun%wfegaanaéam @?jr%%a'%wwna
EHETHF&E&@HWB%HHHHWEE%BTIMHWUFEWEHAH?C%{H

&g yar gear? Q
1 oy EI:— —_—
' (a) 2 uje Q:_ R\ W _ﬁ:‘;
(b) 2{_; ui . R/;lj TN
: . L‘T‘ o
(c) 25 uie 0, e B
l,d} BE - uig

92. Ais lhnu: as good a workman as B and B is twice as good a workman as C. All thc hree
took up a job and received I 1800 as remuneration, The share of A is -

| (a) X 1200 C= C"

\ 8 (b) T 1000 . ' Q@

C (¢) T 800 L DX Qo w\%—syﬁ b= PTQ‘T'
B (d)T 700 | Sl P

\:,E ) 1?‘

// Anmaft B nrefl 3 35 g& &M J9e I 3 B vt C mrert 3 S g 21 oo O

f3at & foa aW ugr a3 o3 G5t & &K @ 1800 U@ &1 A= i J2ar:
(a) 1200 gu®

(b) 1000 FuE

(¢) 800 TUE Alm tO SChleVe

() 700 FuE

m i

L]

T R e T e e—— R = i T ——— —*,-: .!._'_I_--F
.8, Series -3 Page 2%
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23,

e Vid ot B 5 '3
“‘AH-':EE‘B F-:-qﬂndf' D—EE.Lhm B C:DE
(a)8:6:9:10- A B \ x A Cﬁrlg)ﬁ}—
. B L2 - S
(b)8:6:10:9
1-.1105‘-9 = 3.5
(d)6:8:10:9 B B
C:D ;:%xé%;;;
F'TEE". B—l-j B'f:l-inéc.n_j_F ; 5 g:] ‘E" B !%
33 : 39 L-E.;.?A:B:C‘:D :
(a)8:6:9:10 1{ . .
(b)S:6:10:9 -3 %%%ﬂ_

(c)10:6:8:9 ﬁﬁ‘.}_
(d)6:8:10:9 ili

4. The CP of an article is 40% of the SP. The per cml that the S.P. 15 of C.P. 1s:
(a) 60% 2P 1w
['h] Iﬁﬂnn C ? "Li [ }.I‘\
il F;:

{c o | . |-I

Fadh o wde s B Sue R e T 40% 01 SFe ST o s S wde ws = B

YStes g2 ?
(@) 60% 2+ €10 1B
(b) 150% 16°49:80: 1YY\
(c) 2000
(d) 250%%

%, If the cost price of 20 articles is equal to the selling price of 16 articles, then gan or loss
per cent is : cp %\ﬁ h‘h =[C
(1) 20% gain y(e’ﬁﬁf"% . M xbhmfas
(b) 209 loss +£('I'f

(dFI5% loss

ﬂmzuwr?mmrﬁwéﬁaﬁm%mﬁ P e 7 saRS

yFtes F2ar
(a) 200, grfEer

ome Aim to achieve
(d) 25% SRS
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@;@ @ JI

y selling 33 oranges, a vendor gains the selling price of 11 ﬂranges H15 gain per cent

(a) 50%

(b) 40% ()céi\’ 4 " \ @(\u
( (©) 3:5?}5 @

@25%

33%%3@,%&%3 1 ﬁg%@ﬁaﬁrgaémaﬂ%?j??n Baer yh

{ﬂ] S0%
(b)40% -
(c) 35%

(d) 25% @

allowing a discount of 10% on the marked price, a shopkeeper makes a profit (
¢ marked price is above the cost price by %

@
@ () 40% oL i_c? -
(d) 42% ’lﬁi ¢
%aﬁmﬁa%mﬁmmémqﬁﬁﬁﬁfymﬁmqﬁﬁwﬁy
fogurfas we vdte ve 3 R ydins e 39
(a) 30% Qk‘ 26 ¥ =9o00 |
(b) 36% ne @ 2400
(c) 40% A\ °\ \ ji\-@sn U0
(d) 42% ’kqﬂf"’ ct = T S
‘_g&/ The length of the longest rod that can be placed in a room 20 m long, 16 m m:{ and!
12 m high is : \{ _ o ' Q
()20 m e B\ @ |
 (®36m L . | 5
Je¥2042 m - OO0

(d)20V3 m

f&a snar, faret daret 20 Hizg, 9375t 16 Hiza n 2 I
T rod Iftmr 7 FerEr 97 SO e My i)

(a) 20 HIZT & i
(b) 36 Ht=g

«asi=  AJM tO achieve

(d)2043 iz

Page 30
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9,~The difference between C.P. and S.P. of an article is ¥ 132, If the profit per cent is &, the

1T:LII; ;I]:::] article 1s : cb—e c.P - Q'P =\3Q

(b) T 1650 “"%1 Pn & = 1_%%"‘-@

(c)2 1750 : Cx a8

e ples _ *{'E_E (A = 3l

Fgvmg ouydle w3 feasi v U U o nizg 3 e afeor s i 3 3 Q9
2R3 T fEad He T . Xy

(a) 1600 FuE e 6 S
(b) 1650 Fu=
(¢) 1750 Fue
(d) 1782 Fu® o |
0. ,Ihe day of the week on 12th January 1979 is : %
(a) Friday 13 Tau 1909 - g S  \%ew &5 \dwme ¥
b¥Saturday (e e C}‘
(c) Sunday ' __|__,_
(d) Monday aux= L-::_.E.'g Yy \&‘f
12 A5Gt 1979 & I=3 @ fagst fes AT iy sS4
(a) BEETTE : -
(b) FEIETS B Sl S A
iﬂ}m T \quoo N ®
(d) AHETS i
§39 o 4B
18 5 Tla=
" E . q S‘q
i) @ %
\ %Ja%
| |1131 A }ﬁ‘ i @—)
& a°
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